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short short int —215(=32,768)~21°~1(32.767) 16-hit signed

unsigned short
int

unsigned 1int
Tong

unsigned long

float

double

Tong double

unsigned short int

unsigned

Tong 1int

unsigned Tong int

0~2'-1(65535)
—231(—2147483648)~231-1(2147483647)
0~232-1(4294967295)
—231(—2147483648)~231-1(2147483647)
0~232-1(4294967295)
S5419): —3.4028235E+38~—1.4E—45
oF2=H el | 4E—45~3.4028235E+38
S45=119): —1.7976931348623 1 57E+308~
—4.9E—324
FHS:
4.9E—324~1.7976931348623157E+308
5= 9): —1.18E+4932~3.37E—4932
oFg=wel: 3 37E—4932~1.18E+4932

f557 el 19

16-bit unsigned
32-bit signed
32-bit unsigned
32-bit signed
32-bit unsigned
32-bit [EEE 754

64-bit IEEE 754

80-bit

P
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- printf &
71 71250l &8 <. (stdio.h)
=) %d ¢ M2
printf(“Test printf. a = %d Wn", a); :ﬂd. ;I'DTQLL”SED?E%?EAMH
rintf("%d, %f %c Wn", a, b, ¢); 1 @ floatLr double €= =%
printi{*ed, 7et, % ) %c @ char® 2XSE0| 0 3t 2R}

%35 i char®@ EAE(EFHIE 0|2t 2 =5 2C0H)

#include <cstdlib>
#include <iostream>

using namespace std;

int main(int argc, char *argv[])
{ Test printf.
4@,_ 4@ . A08ddA,

int a;
float b; e -
char ¢ -'t” '

a = 40;
b = 40;
c = 40;

printf("Test printf. a = %d #n", a);
printf("%d, %f, %c ¥n", a, b, c);
system("PAUSE");

return EXIT_SUCCESS;
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3 71250l 9 g (stdioh)

Mo
i

scanf("%d", &a);

#include <cstdlib>
#include <iostream>

using namespace std;

int main(int argc, char *argv[])

{

int a, b, ¢

printf ("Y= 37| & Y HSIA| 2 Wn");
scanf ("%d%d%d", &a, &b, &c);
printf ("G 410] ot H= %d, %d, %dJLICEWN", a, b, ©);

system("PAUSE");
return EXIT_SUCCESS;
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- Ct++ BF 9=d Sk
ok~ cout, cin

cout<<” L&
o I
cout< <=,
cout<<” LH-’g- "<<H 2
cout<<" L§S "<<endl
cout<<” ;
g /n";

cin>>H 2~
!
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#include <iostream=

int main() {
double radius:
double area:

// Step 1: Read in radius
radmus = 20;

// Step 2: Compute area
area — radius * radius * 3.14159;

// Step 3: Display the area
std::cout << "The area 1s ";
std::cout << area << std::endl:




#include <iostream= memory

int main() { radius

double radius: area
double area:

// Step 1: Read in radius
radius = 20;

/I Step 2: Compute area
area = radius * radius * 3.14159;

/I Step 3: Display the area
std::cout << "The area1s ":
std::cout << area << std::endl:




#include <iostream=

int main() {
double radius:
double area:

// Step 1: Read in radius
radms — 20;

// Step 2: Compute area

area = radius * radius * 3.14159:

// Step 3: Display the area
std::cout << "The area i1s ";
std::cout << area << std::endl:

J

radius| 20 X| &

radius

area no value




#include <iostream=>
int main() {
double radius:

double area:

// Step 1: Read in radius
radius = 20:

// Step 2: Compute area

area — radius * radius * 3.14159;

// Step 3: Display the area
std::cout << "The area 1s ";
std::cout << area << std::endl:

memory




#F1include <iostream:=

memory

int main() { —
double radius:

20
area 1256.636

double area:

// Step 1: Read in radius
radius = 20:

/I Step 2: Compute area
area = radius * radius * 3.14159:

/I Step 3: Display the area
std:-cout << "The arca is ”\ N [=1E7
std::cout << area << std::endl;

| C:\examplercomputedrea -
"M The area is 1256.64

—

C:\examplel
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#include <iostream>

int main() {
// Step 1: Read in radius
double radius;
std::cout << "Enter a radius: ";
std::cin >> radius;

// Step 2: Compute area
double area = radius * radius * 3.14159;

// Step 3: Display the area

std::cout << "The area is " << area << std::endl;




- std:: H5F0{(prefix) 4=k

std:: => standard name space. XA Q2 HH
(naming)= A 2| 2O At O A 2= O|F0|
namespaceE 3.

h 2
using namespace std;

#include <iostream>
using namespace std;

int main() {
// Step 1: Read in radius
double radius;
cout << "Enter a radius: ";
cin >> radius;

// Step 2: Compute area
double area = radius * radius * 3.14159;

// Step 3: Display the area
cout << "The area is " << area << endl;




A 58 72 HO[HE ME

TE=ES

double radius; // double(BH & =&l =) H =
// radius= &

double interestRate; // double 2 &= interestRate =
/A

char a; /| 2 HE a8 &




intx = 1; /1 A2 x0 1
double radius = 1.0; // 'H <= radius0l 1.0

x=5%B/2)+3*2; /A2 o Hax0| €Y

= - /1 BIA yoL 12 TIGHA 812 X0l B C

area = radius * radius * 3.14159; // ™ & (area) Hl AF




-Ab2~(constant) :

const datatype CONSTANTNAME = VALUE;

const double PI =3.14159:

const it SIZE = 3;

-sizeof at==: 00| SOl A7|E F&h

cout< <sizeof(char)<<

< <sizeof(int)<<

< <sizeof(float) < <endl;




#include <iostream>
using namespace std;

int main() {
const double PI = 3.14159;

// Step 1: Read in radius
double radius = 20;

// Step 2: Compute area
double area = radius * radius * PI;

// Step 3: Display the area
cout << "The area is “;
cout << area << std:endl:




- 2| E(literal) : T2 MO A &AH AFEE= M 4L

<int il = 34;
<=long k =1000000;

=double d =5.0;

8%l > 022 A|E} ->010 (10%l== 8)
168l -> OxE A|&f ->0x000F (10%l== 15)
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Name Meaning Example Result
+ Addition 34 + 1 33

= Subtraction 34.0 — 0.1 33.9

* Multiplication 300 * 30 9000

/ Division 1.0 / 2.0 0.5

% Remainder 20 % 3 2
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5.0 /2= double 2f 2.5J} =IC}.
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#include <iostream>
using namespace std;

int main()
{
int seconds = 500;
int minutes = seconds / 60;

int remainingSeconds = seconds % 60;
cout << seconds << " seconds is "

" minutes and " << remainingSeconds <<
return O;

}

<< minutes <<

' seconds " << endl;

LA second=s is 8 minutes and 28 seconds

H=stA T 0fF 2|




(3+4%x)/5 — 10*(y—5)*(a+b+c)/x + 9x(4/x + (9+x)/y)




#include <iostream>
using namespace std;
int main()

{

// Enter a degree in Fahrenheit

double fahrenheit;

cout << "Enter a degree in Fahrenheit: "
cin >> fahrenheit;

// Obtain a celsius degree
double celsius = (5.0 / 9) * (fahrenheit - 32);

// Display result

cout << "Fahrenheit " << fahrenheit << " is " <<
celsius << " in Celsius" << endl;

return O;

Enter a degree in Fahrenheit: 166

Fahrenheit 188 i= 37.7Y78 in Celsius
H=Td™ OtF Il =8 AT
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Description
H=0] dt= 241

B0 U2 AR

Same effect as

> int newNum =
=1 + 1;

Same effect as

i=1+1;
int newNum = 10
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double d = 3; (type widening)

& Al &= Ol I AE

int i = static cast<int>(3.0); (Et& S2)
int 1= (int)3.9; (&=+& O|ot= H

double d =4.5;

int 1 = static cast<int>(d); // d2| =&




- char 8

char letter ='A'; (ASCII) char ch ="'a';
char numChar ='4"; (ASCII) cout << ++ch;

cout << "Enter a character: ";
char ch;
cin >> ch;
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Character Escape Segquence Name ASCITI Code
\b Backspace 8
Wt Tab 9
\n Linefeed 10
Wi Formfeed 12
\I Carriage Return 13
A Backslash 92
Y Single Quote 39
\ " Double Quote 34

;

»’II ""\)\,v
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ASCl Character Set in the Decimal Index

v i 2 3 ; A g
1 nul soh aTY ErX o eni] ack bel his bt
1 il v i Cl S0 5 elle del de? s
2 dos nak Sy cth can eIl ik i s by
3 s ue ap ! " # 8 b & ’
4 1 - i 1
3 2 3 4 5 & 7 s 0
[ - i# A B [ | E
7 F i H | | K L M M [
B [ L) I ] I L W W X Y
0 £ | _ 1 b C
10 d e b E h 1 i k | m
11 it 0o P i r 5 f 1 v W
12 K ¥ z § | I del




(‘:+ c1(dollar), E'I (quarter)

Zl (nickel), Hl L|(penny))= H &t
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amount— 11.56

it remaimngAmount = (int)(amount * 100);

// Find the number of one dollars
it numberOfOneDollars = remamingAmount / 100:
remamingAmount = remaimingAmount % 100;

// Find the number of quarters in the remaining amount
mt numberOfQuarters = remaining Amount / 25;
remaimingAmount = remamingAmount % 25;

// Find the number of dimes in the remaining amount
it numberOfDimes = remaimingAmount / 10:
remaming Amount = remaming Amount % 10;

// Find the number of nickels in the remaining amount
mt numberOfNickels = remamingAmount / 5;
remamingAmount = remammgAmount % 35:

// Find the number of pennies i the remaining amount
it numberOfPennies = remamingAmount;

remamingAmount

remainingAmount
ZJ13t
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Amount= 11.56

it remaimngAmount = (1nt)(amount * 100);

// Find the number of one dollars
int numberOfOneDollars = remamingAmount / 100:
remamungAmount = remamngAmount % 100;

// Find the number of quarters in the remaining amount
mt numberOfQuarters = remaining Amount / 25;
remammingAmount = remamingAmount % 25;

// Find the number of dimes in the remaining amount
it numberOfDimes = remaimningAmount / 10:
remamngAmount = remaming Amount % 10;

// Find the number of nickels in the remaining amount
it numberOfNickels = remamingAmount / 5;
remamingAmount = remamingAmount % 5:

// Find the number of pennies i the remaining amount
it numberOfPennies = remamingAmount;

remaimmingAmount

numberOfOneDollars

numberOfOneDollars
JE e




Amount= 11.56

mf remaimmingAmount = (int)(amount * 100);

remaining Amount

// Find the number of one dollars
mt numberOfOneDollars = remamingAmount / 100: _— numberOfOneDollars
remamingAmount = remainingAmount % 100; T

// Find the number of quarters 1n the remaining amount
mt numberOfQuarters = remaining Amount / 25; remaimingAmount 2§ &
remaimmngAmount = remamingAmount % 25;

// Find the number of dimes 1n the remaining amount
it numberOfDimes = remaimmingAmount / 10;
remamingAmount = remaimngAmount % 10;

// Find the number of nickels in the remaming amount
mt numberOfNickels = remaming Amount / 5:
remamingAmount = remaimningAmount % 5:

// Find the number of pennies i the remaiming amount
mt numberOfPennies = remaming Amount;




mt remaimngAmount = (int)(amount * 100);

// Find the number of one dollars
mt numberOfOneDollars = remamingAmount / 100;
remamingAmount = remammingAmount % 100;

// Find the number of quarters mn the remaining amount
it numberOfQuarters = remaining Amount / 25;
remammingAmount = remamingAmount % 25;

// Find the number of dimes in the remaining amount
it numberOfDimes = remaimingAmount / 10:
remamming Amount = remamingAmount % 10;

// Find the number of nickels in the remaining amount
mt numberOfNickels = remamingAmount / 5:
remamingAmount = remamingAmount % 5:

// Find the number of pennies 1 the remaimng amount
mt numberOfPennies = remaming Amount;

remaining Amount
numberQOfOneDollars

numberOfOneQuarters

numberQfOneQuarters
ME




Amount= 11.56

int remainingAmount = (int)(amount * 100); e e

// Find the number of one dollars
int numberOfOneDollars = remainingAmount / 100; numberOfOneDollars “
remamngAmount = remaimingAmount % 100;

// Find the number of quarters in the remaining amount

mt numberOfQuarters = remaining Amount / 25; numberOfQuarters
remainingAmount = remainingAmount % 25;

// Find the number of dimes in the remaining amount
it numberOfDimes = remaimningAmount / 10: remainingAmount 24§ &I
remamngAmount = remaming Amount % 10;

// Find the number of nickels in the remaining amount
it numberOfNickels = remamingAmount / 5;
remamingAmount = remamingAmount % 5:

// Find the number of pennies i the remaining amount
it numberOfPennies = remamingAmount;
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#include <iostream>
#include <ctime>
using namespace std;

int main()

{
// Obtain the total seconds since the midnight, Jan 1, 1970
int totalSeconds = time(0);

// Compute the current second in the minute in the hour
int currentSecond = totalSeconds % 60;

// Obtain the total minutes
int totalMinutes = totalSeconds / 60;

// Compute the current minute in the hour
int currentMinute = totalMinutes % 60;

// Obtain the total hours
long totalHours = totalMinutes / 60;

// Compute the current hour
int currentHour = (int)(totalHours % 24);

// Display results
o cout << "Current time is '
<< currentMinute << ":"

<< currentHour <<
<< currentSecond << " GMT" << endl;

r”
oy
L4

return O;



